Article

# New Fractional Integral Inequalities via $k$-Atangana-Baleanu Fractional Integral Operators 

Seth Kermausuor *(D) and Eze R. Nwaeze (D)<br>Department of Mathematics and Computer Science, Alabama State University, Montgomery, AL 36101, USA; enwaeze@alasu.edu<br>* Correspondence: skermausour@alasu.edu

Citation: Kermausuor, S.; Nwaeze, E. R. New Fractional Integral Inequalities via $k$-Atangana-Baleanu Fractional Integral Operators. Fractal Fract. 2023, 7, 740. https:/ /doi.org/ 10.3390/fractalfract7100740

Academic Editor: Carlo Cattani

Received: 31 August 2023
Revised: 2 October 2023
Accepted: 6 October 2023
Published: 8 October 2023


[^0]
#### Abstract

We propose the definitions of some fractional integral operators called $k$-Atangana-Baleanu fractional integral operators. These newly proposed operators are generalizations of the well-known Atangana-Baleanu fractional integral operators. As an application, we establish a generalization of the Hermite-Hadamard inequality. Additionally, we establish some new identities involving these new integral operators and obtained new fractional integral inequalities of the midpoint and trapezoidal type for functions whose derivatives are bounded or convex.


Keywords: Hermite-Hadamard inequality; Atangana-Baleanu fractional integral operators; fractional integral inequalities; convex functions; bounded functions

## 1. Introduction

Integral inequalities play an indispensable role in mathematical analysis due to their innumerable applications in the analysis of differential equations and approximation theory, amongst others. Several integral inequalities for functions of single variables under various conditions have been established in the literature. Fractional calculus and convex functions have been found to play a fundamental role in the study of integral inequalities in recent years. A great number of researchers have established several integral inequalities under conditions of convexity and its generalizations by utilizing various fractional integral operators. For example, Akdemir et al. established some fractional integral inequalities of the Hermite-Hadamard type for convex and concave functions via the Atagana-Baleanu fractional integral operators in [1], and Ali et al. obtained some parametrized Newton-type inequalities for convex functions using the Riemann-Liouville fractional integrals in [2]. In [3], Butt et al. provided some Hermite-Hadamard-type integral inequalities for convex functions using the ABK-fractional integral operators, and in [4], Chu et al. established some Simpson's type inequalities for $n$-polynomial convex functions using the Katugampola fractional integrals. Using some generalized fractional integrals by Guzman et al., some Hermite-Hadamard-type inequalities for convex functions were present in [5], and some midpoint-type and trapezoidal-type inequalities for prequasiinvex functions via the Katugampola fractional integrals were provided by Kermausuor and Nwaeze in [6]. Peng et al. established some Simpson's type inequalities for generalized ( $m, h_{1}, h_{1}$ )-preinvex functions by utilizing the Riemann-Liouville fractional integral operators in [7], and Şanli provided some Simpson's type inequalities for harmonically convex functions via the Katugampola fractional integrals in [8]. In [9], Yu et al. established some Ostrowski-type integral inequalities for $p$-convex functions by utilizing the Katugampola fractional integral operators, and Zabandan et al. established some integral inequalities of the Hermite-Hadamard type for $r$-convex functions. For more information about the results mentioned above and other related results, we invite the interested reader to see the papers in [1-22] and the references therein.

The aforementioned results are established via the convexity of the function involved. For this purpose, it is natural to start by first presenting the definition of a convex function.

Definition 1. A function $\mathcal{J}: I \rightarrow \mathbb{R}$ is convex on the interval I if

$$
\mathcal{J}\left(\lambda \gamma_{1}+(1-\lambda) \gamma_{2}\right) \leq \lambda \mathcal{J}\left(\gamma_{1}\right)+(1-\lambda) \mathcal{J}\left(\gamma_{2}\right)
$$

for all $\gamma_{1}, \gamma_{2} \in I$ and $\lambda \in[0,1]$.
The double inequality below holds for convex functions and is known in the literature as the Hermite-Hadamard inequality.

Theorem 1 ([23]). If $\mathcal{J}: I \rightarrow \mathbb{R}$ is a convex function, then the double inequality:

$$
\begin{equation*}
\mathcal{J}\left(\frac{\gamma_{1}+\gamma_{2}}{2}\right) \leq \frac{1}{\gamma_{2}-\gamma_{1}} \int_{\gamma_{1}}^{\gamma_{2}} \mathcal{J}(s) d s \leq \frac{\mathcal{J}\left(\gamma_{1}\right)+\mathcal{J}\left(\gamma_{2}\right)}{2} \tag{1}
\end{equation*}
$$

holds for all $\gamma_{1}, \gamma_{2} \in I$ with $\gamma_{1}<\gamma_{2}$.
The Hermite-Hadamard inequality has been one of the most studied integral inequalities. Several generalizations of this inequality have been introduced in the literature in recent years. For instance, in [21], Sarikaya et al. established the following generalization of the Hermite-Hadamard inequality by utilizing the Riemann-Liouville fractional integrals defined in Definition 2.

Theorem 2. If $\mathcal{J}:\left[d_{1}, d_{2}\right] \rightarrow \mathbb{R}$ is a positive and convex function on $\left[d_{1}, d_{2}\right]$ with $d_{1}<d_{2}$ and $\mathcal{J} \in L_{1}\left(\left[d_{1}, d_{2}\right]\right)$, then the inequalities:

$$
\mathcal{J}\left(\frac{d_{1}+d_{2}}{2}\right) \leq \frac{\Gamma(\alpha+1)}{2\left(d_{2}-d_{1}\right)^{\alpha}}\left[I_{d_{1}^{+}}^{\alpha} \mathcal{J}\left(d_{2}\right)+I_{d_{2}^{-}}^{\alpha} \mathcal{J}\left(d_{1}\right)\right] \leq \frac{\mathcal{J}\left(d_{1}\right)+\mathcal{J}\left(d_{2}\right)}{2}
$$

hold for all $\alpha>0$, where $\Gamma$ denotes the gamma function, and $I_{d_{1}^{+}}^{\alpha} \mathcal{J}$ and $I_{d_{2}^{-}}^{\alpha} \mathcal{J}$, respectively, denotes the left- and right-sided Riemann-Liouville fractional integrals of $\mathcal{J}$ of order $\alpha$ defined in Definition 2.

Similarly, in [24], Wu et al. obtained a generalization of the Hermite-Hadamard inequality by utilizing the $k$-Riemann-Liouville fractional integrals defined in Definition 3 as follows.

Theorem 3. If $\mathcal{J}:\left[d_{1}, d_{2}\right] \rightarrow \mathbb{R}$ is a positive and convex function on $\left[d_{1}, d_{2}\right]$ with $d_{1}<d_{2}$ and $\mathcal{J} \in L_{1}\left(\left[d_{1}, d_{2}\right]\right)$, then the inequalities:

$$
\mathcal{J}\left(\frac{d_{1}+d_{2}}{2}\right) \leq \frac{\Gamma_{k}(\alpha+k)}{2\left(d_{2}-d_{1}\right)^{\frac{\alpha}{k}}}\left[k I_{d_{1}^{+}}^{\alpha} \mathcal{J}\left(d_{2}\right)+{ }_{k} I_{d_{2}^{-}}^{\alpha} \mathcal{J}\left(d_{1}\right)\right] \leq \frac{\mathcal{J}\left(d_{1}\right)+\mathcal{J}\left(d_{2}\right)}{2}
$$

hold for all $\alpha, k>0$, where $\Gamma_{k}$ denotes the $k$-gamma function, and ${ }_{k} I_{d_{1}^{+}}^{\alpha} \mathcal{J}$ and ${ }_{k} I_{d_{2}^{-}}^{\alpha} \mathcal{J}$ denotes the left- and right-sided $k$-Riemann-Liouville fractional integrals of $\mathcal{J}$ of order $\alpha$ defined in Definition 3.

The Riemann-Liouville and $k$-Riemann-Liouville fractional integrals are defined as follows.

Definition 2 ([25-27]). The left- and right-sided Riemann-Liouville fractional integrals of a real-valued function $\mathcal{J}$ of order $\alpha>0$ are given by

$$
I_{d_{1}^{+}}^{\alpha} \mathcal{J}(\lambda)=\frac{1}{\Gamma(\alpha)} \int_{d_{1}}^{\lambda}(\lambda-u)^{\alpha-1} \mathcal{J}(u) d u
$$

and

$$
I_{d_{2}^{-}}^{\alpha} \mathcal{J}(\lambda)=\frac{1}{\Gamma(\alpha)} \int_{\lambda}^{d_{2}}(u-\lambda)^{\alpha-1} \mathcal{J}(u) d u
$$

where $\Gamma$ is the gamma function given by

$$
\Gamma(v):=\int_{0}^{\infty} u^{v-1} e^{-u} d u, \quad \operatorname{Re}(v)>0 .
$$

Definition 3 ([28]). The left- and right-sided $k$-Riemann-Liouville fractional integrals of a realvalued function $\mathcal{J}$ of order $\alpha>0$ are given by

$$
{ }_{k} I_{d_{1}^{+}}^{\alpha} \mathcal{J}(\lambda)=\frac{1}{k \Gamma_{k}(\alpha)} \int_{d_{1}}^{\lambda}(\lambda-u)^{\frac{\alpha}{k}-1} \mathcal{J}(u) d u
$$

and

$$
{ }_{k} I_{d_{2}^{-}}^{\alpha} \mathcal{J}(\lambda)=\frac{1}{k \Gamma_{k}(\alpha)} \int_{\lambda}^{d_{2}}(u-\lambda)^{\frac{\alpha}{k}-1} \mathcal{J}(u) d u
$$

where $\Gamma_{k}$ is the $k$-gamma function presented by Diaz et al. [29] as

$$
\Gamma_{k}(v):=\int_{0}^{\infty} u^{v-1} e^{-\frac{u^{k}}{k}} d u, \quad \operatorname{Re}(v)>0
$$

Recently, Atangana and Baleanu introduced a fractional integral which is known in the literature as the left-sided Atangana-Baleanu fractional integral defined below.

Definition 4 ([30]). The left-sided Atangana-Baleanu fractional integral of a real-valued function $\mathcal{J}$ of order $\alpha \in(0,1)$ is given by

$$
{ }^{A B} I_{d_{1}^{+}}^{\alpha} \mathcal{J}(\lambda)=\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\lambda)+\frac{\alpha}{B(\alpha) \Gamma(\alpha)} \int_{d_{1}}^{\lambda}(\lambda-u)^{\alpha-1} \mathcal{J}(u) d u
$$

where $B(\alpha)>0$ and satisfies the property $B(0)=B(1)=1$.
In [31], Abdeljawad and Baleanu introduced the right-sided version of the AtanganaBaleanu fractional integral as follows:

$$
{ }^{A B} I_{d_{2}^{-}}^{\alpha} \mathcal{J}(\lambda)=\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\lambda)+\frac{\alpha}{B(\alpha) \Gamma(\alpha)} \int_{\lambda}^{d_{2}}(u-\lambda)^{\alpha-1} \mathcal{J}(u) d u .
$$

By utilizing the Atangana-Baleanu fractional integral operators, Fernandez and Mohammed [32] established the following generalization of the Hermite-Hadamard inequality.

Theorem 4. If $\mathcal{J}:\left[d_{1}, d_{2}\right] \rightarrow \mathbb{R}$ is convex on $\left[d_{1}, d_{2}\right]$ and $\mathcal{J} \in L_{1}\left(\left[d_{1}, d_{2}\right]\right)$, then the inequalities

$$
\mathcal{J}\left(\frac{d_{1}+d_{2}}{2}\right) \leq \frac{B(\alpha) \Gamma(\alpha)}{2\left[\left(d_{2}-d_{1}\right)^{\alpha}+(1-\alpha) \Gamma(\alpha)\right]}\left[{ }^{A B} I_{d_{1}^{+}}^{\alpha} \mathcal{J}\left(d_{2}\right)+{ }^{A B} I_{d_{2}^{-}}^{\alpha} \mathcal{J}\left(d_{1}\right)\right] \leq \frac{\mathcal{J}\left(d_{1}\right)+\mathcal{J}\left(d_{2}\right)}{2}
$$

hold for $\alpha \in(0,1)$.
In [33], Kashuri introduced some fractional integral operators called the ABK-fractional integral operators, which are generalizations of the Atangana-Baleanu fractional operators, and presented the Hermite-Hadamard inequality for these fractional integral operators in the following:

Definition 5. The left- and right-sided ABK-Atangana-Baleanu fractional integral operators of a real-valued function $\mathcal{J}$ of order $v \in(0,1)$ are given by

$$
{ }_{d_{1}^{d^{I}}}^{A B K \rho} I_{\lambda}^{v} \mathcal{J}(\lambda)=\frac{1-v}{B(v)} \mathcal{J}(\lambda)+\frac{\rho^{1-v} v}{B(v) \Gamma(v)} \int_{d_{1}}^{\lambda} \frac{u^{\rho-1}}{\left(\lambda^{\rho}-u^{\rho}\right)^{1-v}} \mathcal{J}(u) d u, \quad \lambda>d_{1}
$$

and

$$
{ }_{d_{2}^{-}}^{A B K \rho} I_{\lambda}^{v} \mathcal{J}(\lambda)=\frac{1-v}{B(v)} \mathcal{J}(\lambda)+\frac{\rho^{1-v} v}{B(v) \Gamma(v)} \int_{\lambda}^{d_{2}} \frac{u^{\rho-1}}{\left(u^{\rho}-t^{\rho}\right)^{1-v}} \mathcal{J}(u) d u, \quad \lambda<d_{2}
$$

where $\rho>0$ and $B(v)>0$ satisfies the property $B(0)=B(1)=1$.
Theorem 5. Let $v \in(0,1)$ and $\rho>0$. Let $\mathcal{J}:\left[d_{1}^{\rho}, d_{2}^{\rho}\right] \rightarrow \mathbb{R}$ with $0 \leq d_{1}<d_{2}$ be a convex function. Then the following inequalities for the ABK-fractional integrals hold:

$$
\begin{aligned}
& \frac{2\left(d_{2}^{\rho}-d_{1}^{\rho}\right)^{v}}{B(v) \Gamma(v+1) \rho^{2-\rho}} \mathcal{J}\left(\frac{d_{1}^{\rho}+d_{2}^{\rho}}{2}\right)+\frac{1-v}{B(v)}\left[\mathcal{J}\left(d_{1}^{\rho}\right)+\mathcal{J}\left(d_{2}^{\rho}\right)\right] \\
& \leq A B K \rho \\
& d_{1}^{+} I_{d_{2}^{\rho}}^{v} \mathcal{J}\left(d_{2}^{\rho}\right)+{ }^{A B K \rho}{ }_{d_{2}^{-}}^{-} I_{d_{1}^{\rho}}^{v} \mathcal{J}\left(d_{1}^{\rho}\right) \\
& \leq\left(\frac{\left(d_{2}^{\rho}-d_{1}^{\rho}\right)^{v}+\rho(1-v) \Gamma(v)}{\rho B(v) \Gamma(v)}\right)\left[\mathcal{J}\left(d_{1}^{\rho}\right)+\mathcal{J}\left(d_{2}^{\rho}\right)\right] .
\end{aligned}
$$

Driven by the ongoing research work on fractional integrals and the crucial role they play in the study of fractional integral inequalities, our aim in this paper is to propose novel definitions of some generalized fractional integral operators called $k$-Atangana-Baleanu fractional integral operators. As an application, we will establish the Hermite-Hadamard inequality and some new fractional integral inequalities by using these new operators. Our main results are presented in Section 2, followed by a conclusion in Section 3.

## 2. Main Results

We begin by providing the definition of the new fractional integrals that presents a generalization of the Atangana-Baleanu fractional integrals.

Definition 6. The left- and right-sided $k$-Atangana-Baleanu fractional integral operators of a real-valued function $\mathcal{J}$ of order $\alpha>0$, are defined as

$$
{ }^{A B}{ }_{k} I_{d_{1}^{+}}^{\alpha} \mathcal{J}(\lambda)=\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\lambda)+\frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)} \int_{d_{1}}^{\lambda}(\lambda-u)^{\frac{\alpha}{k}-1} \mathcal{J}(u) d u, \quad \lambda>d_{1}
$$

and

$$
{ }^{A B}{ }_{k} I_{d_{2}^{-}}^{\alpha} \mathcal{J}(\lambda)=\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\lambda)+\frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)} \int_{\lambda}^{d_{2}}(u-\lambda)^{\frac{\alpha}{k}-1} \mathcal{J}(u) d u, \quad \lambda<d_{2}
$$

where $k>0$ and $B(\alpha)>0$ satisfies the property $B(0)=B(1)=1$.
Remark 1. If $k=1$ in Definition 6, then we have the Atangana-Baleanu fractional integral operators.
Next, we study the Hermite-Hadamard inequality by utilizing the $k$-AtanganaBaleanu fractional integral operators.

Theorem 6. Let $\gamma, \theta \in \mathbb{R}$ with $\gamma<\theta$ and $\mathcal{J}:[\gamma, \theta] \rightarrow \mathbb{R}$ be a convex function. Then the inequalities

$$
\begin{align*}
\mathcal{J}\left(\frac{\theta+\gamma}{2}\right) & \leq \frac{B(\alpha) \Gamma_{k}(\alpha)}{2\left[(\theta-\gamma)^{\frac{\alpha}{k}}+(1-\alpha) \Gamma_{k}(\alpha)\right]}\left[{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma)\right] \\
& \leq \frac{\mathcal{J}(\gamma)+\mathcal{J}(\theta)}{2} \tag{2}
\end{align*}
$$

hold for all $k>0$ and $\alpha \in(0,1)$.
Proof. Under the condition of convexity of $\mathcal{J}$ on $[\gamma, \theta]$, it follows that for any $u_{1}, u_{2} \in[\gamma, \theta]$

$$
\begin{equation*}
\mathcal{J}\left(\frac{u_{1}+u_{2}}{2}\right) \leq \frac{\mathcal{J}\left(u_{1}\right)+\mathcal{J}\left(u_{2}\right)}{2} \tag{3}
\end{equation*}
$$

If we take $u_{1}=\lambda \theta+(1-\lambda) \gamma$ and $u_{2}=(1-\lambda) \theta+\lambda \gamma$ for $\lambda \in[0,1]$ in (3), then we obtain

$$
\begin{equation*}
2 \mathcal{J}\left(\frac{\theta+\gamma}{2}\right) \leq \mathcal{J}(\lambda \theta+(1-\lambda) \gamma)+\mathcal{J}((1-\lambda) \theta+\lambda \gamma) \tag{4}
\end{equation*}
$$

Multiply (4) by $\frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)} \lambda^{\frac{\alpha}{k}-1}$ and integrate both sides of the resulting inequality with respect to $\lambda$ over $[0,1]$ to obtain

$$
\begin{align*}
\frac{2}{B(\alpha) \Gamma_{k}(\alpha)} \mathcal{J}\left(\frac{\theta+\gamma}{2}\right) \leq & \frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)} \int_{0}^{1} \lambda^{\frac{\alpha}{k}-1} \mathcal{J}(\lambda \theta+(1-\lambda) \gamma) d \lambda \\
& \quad+\frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)} \int_{0}^{1} \lambda^{\frac{\alpha}{k}-1} \mathcal{J}((1-\lambda) \theta+\lambda \gamma) d \lambda \\
= & \frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)(\theta-\gamma)^{\frac{\alpha}{k}}} \int_{\gamma}^{\theta}(\theta-u)^{\frac{\alpha}{k}-1} \mathcal{J}(u) d u \\
& \quad+\frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)(\theta-\gamma)^{\frac{\alpha}{k}}} \int_{\gamma}^{\theta}(v-\gamma)^{\frac{\alpha}{k}-1} \mathcal{J}(v) d v . \tag{5}
\end{align*}
$$

Using Definition 6 and (5), we obtain

$$
\begin{align*}
\frac{2(\theta-\gamma)^{\frac{\alpha}{k}}}{B(\alpha) \Gamma_{k}(\alpha)} \mathcal{J}\left(\frac{\theta+\gamma}{2}\right) & +\frac{1-\alpha}{B(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)] \\
& \leq{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma) \tag{6}
\end{align*}
$$

Now, since $\mathcal{J}$ is convex, we have that $\mathcal{J}\left(\frac{\theta+\gamma}{2}\right) \leq \frac{\mathcal{J}(\theta)+\mathcal{J}(\gamma)}{2}$. Hence, from (6), we have

$$
\begin{equation*}
\left[\frac{2(\theta-\gamma)^{\frac{\alpha}{k}}}{B(\alpha) \Gamma_{k}(\alpha)}+\frac{2(1-\alpha)}{B(\alpha)}\right] \mathcal{J}\left(\frac{\theta+\gamma}{2}\right) \leq{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma) \tag{7}
\end{equation*}
$$

By rearranging the terms in (7), we obtain the first inequality in (2). To prove the second inequality, we note that if $\mathcal{J}$ is convex, then for $\lambda \in[0,1]$, we have

$$
\begin{equation*}
\mathcal{J}(\lambda \theta+(1-\lambda) \gamma) \leq \lambda \mathcal{J}(\theta)+(1-\lambda) \mathcal{J}(\gamma) \tag{8}
\end{equation*}
$$

and

$$
\begin{equation*}
\mathcal{J}((1-\lambda) \theta+\lambda \gamma) \leq(1-\lambda) \mathcal{J}(\theta)+\lambda \mathcal{J}(\gamma) \tag{9}
\end{equation*}
$$

Adding (8) and (9), we obtain

$$
\begin{equation*}
\mathcal{J}(\lambda \theta+(1-\lambda) \gamma)+\mathcal{J}((1-\lambda) \theta+\lambda \gamma) \leq \mathcal{J}(\gamma)+\mathcal{J}(\theta) \tag{10}
\end{equation*}
$$

Multiply (10) by $\frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)} \lambda^{\frac{\alpha}{k}-1}$ and integrate both sides of the resulting inequality with respect to $\lambda$ over $[0,1]$ to obtain

$$
\begin{align*}
\frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)} \int_{0}^{1} \lambda^{\frac{\alpha}{k}-1} \mathcal{J}(\lambda \theta+(1-\lambda) \gamma) d \lambda & +\frac{\alpha}{k B(\alpha) \Gamma_{k}(\alpha)} \int_{0}^{1} \lambda^{\frac{\alpha}{k}-1} \mathcal{J}((1-\lambda) \theta+\lambda \gamma) d \lambda \\
& \leq \frac{1}{B(\alpha) \Gamma_{k}(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)] \tag{11}
\end{align*}
$$

By using change of variables like in the proof of the first inequality and Definition 6, we deduce from (11) that

$$
\begin{align*}
{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma) & \leq \frac{(\theta-\gamma)^{\frac{\alpha}{k}}}{B(\alpha) \Gamma_{k}(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)]+\frac{1-\alpha}{B(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)] \\
& =\left[\frac{2(\theta-\gamma)^{\frac{\alpha}{k}}}{B(\alpha) \Gamma_{k}(\alpha)}+\frac{2(1-\alpha)}{B(\alpha)}\right] \frac{\mathcal{J}(\gamma)+\mathcal{J}(\theta)}{2} \tag{12}
\end{align*}
$$

Thus, the second inequality in (2) is obtained by rearranging the terms in (12). Hence the proof is complete.

Remark 2. If $k=1$ in Theorem 6 , then we have the Hermit-Hadamard inequality via the AtanganaBaleanu fractional integrals as stated in Theorem 4.

In what follows, we present some novel inequalities of the midpoint type and trapezoidal type for functions with bounded derivatives and functions with convex derivatives in absolute value by utilizing the $k$-Atangana-Baleanu fractional integrals. To do this, we first establish the following crucial identities involving $k$-Atangana-Baleanu fractional integrals.

Lemma 1. Let $\gamma, \theta \in \mathbb{R}$ with $\gamma<\theta$ and $\mathcal{J}:[\gamma, \theta] \rightarrow \mathbb{R}$ be a function. If $\mathcal{J}$ is differentiable and $\mathcal{J}^{\prime} \in L_{1}([\gamma, \theta])$, then the equality

$$
\begin{gather*}
\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}+(1-\alpha) \Gamma_{k}(\alpha)}{\Gamma_{k}(\alpha)}\right) \frac{\mathcal{J}(\gamma)+\mathcal{J}(\theta)}{B(\alpha)}-\left[{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma)\right] \\
=\frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)} \int_{0}^{1}\left[(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}}\right] \mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta) d \lambda \tag{13}
\end{gather*}
$$

holds for all $\alpha, k>0$.
Proof. Using integration by parts, we obtain

$$
\begin{aligned}
& \int_{0}^{1}(1-\lambda)^{\frac{\alpha}{k}} \mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
&=\left.\frac{(1-\lambda)^{\frac{\alpha}{k}}}{\gamma-\theta} \mathcal{J}(\lambda \gamma+(1-\lambda) \theta)\right|_{0} ^{1}-\frac{\alpha}{k(\theta-\gamma)} \int_{0}^{1}(1-\lambda)^{\frac{\alpha}{k}-1} \mathcal{J}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
&=\frac{1}{\theta-\gamma} \mathcal{J}(\theta)-\frac{\alpha}{k(\theta-\gamma)} \int_{0}^{1}(1-\lambda)^{\frac{\alpha}{k}-1} \mathcal{J}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
&=\frac{1}{\theta-\gamma} \mathcal{J}(\theta)-\frac{\alpha}{k(\theta-\gamma)^{\frac{\alpha}{k}+1}} \int_{\gamma}^{\theta}(\theta-u)^{\frac{\alpha}{k}-1} \mathcal{J}(u) d u \\
&=\frac{1}{\theta-\gamma} \mathcal{J}(\theta)-\frac{B(\alpha) \Gamma_{k}(\alpha)}{(\theta-\gamma)^{\frac{\alpha}{k}+1}}\left[A B{ }_{k}{ }^{1} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)-\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\theta)\right]
\end{aligned}
$$

Thus,

$$
\begin{align*}
\int_{0}^{1}(1-\lambda)^{\frac{\alpha}{k}} & \mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
& =\frac{1}{\theta-\gamma} \mathcal{J}(\theta)-\frac{B(\alpha) \Gamma_{k}(\alpha)}{(\theta-\gamma)^{\frac{\alpha}{k}+1}}\left[{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)-\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\theta)\right] \tag{14}
\end{align*}
$$

By a similar argument, we deduce that

$$
\begin{align*}
& \int_{0}^{1} t^{\frac{\alpha}{k}} \mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
& \quad=-\frac{1}{\theta-\gamma} \mathcal{J}(\gamma)+\frac{B(\alpha) \Gamma_{k}(\alpha)}{(\theta-\gamma)^{\frac{\alpha}{k}+1}}\left[{ }^{A B}{ }_{k} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma)-\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\gamma)\right] \tag{15}
\end{align*}
$$

The desired identity in (13) is obtained if we multiply the identities in (14) and (15) by $\frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)}$, and take the difference between the resulting equations.

Lemma 2. Let $\gamma, \theta \in \mathbb{R}$ with $\gamma<\theta$ and $\mathcal{J}:[\gamma, \theta] \rightarrow \mathbb{R}$ be a function. If $\mathcal{J}$ is differentiable and $\mathcal{J}^{\prime} \in L_{1}([\gamma, \theta])$, then the equality

$$
\begin{align*}
& {\left[{ }^{A B}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)-}^{\alpha} \mathcal{J}(\gamma)\right]} \\
& \quad-\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}}{2^{\frac{\alpha}{k}-1} B(\alpha) \Gamma_{k}(\alpha)} \mathcal{J}\left(\frac{\theta+\gamma}{2}\right)+\frac{1-\alpha}{B(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)]\right) \\
& =\frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)}\left[\int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}} \mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta) d \lambda-\int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}} \mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta) d \lambda\right] \tag{16}
\end{align*}
$$

holds for all $\alpha, k>0$.
Proof. Using integration by parts, we obtain

$$
\begin{aligned}
\int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}} & \mathcal{J}^{\prime}(t \gamma+(1-\lambda) \theta) d \lambda \\
& =\left.\frac{\lambda^{\frac{\alpha}{k}}}{\gamma-\theta} \mathcal{J}(\lambda \gamma+(1-\lambda) \theta)\right|_{0} ^{1 / 2}-\frac{\alpha}{k(\gamma-\theta)} \int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}-1} \mathcal{J}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
& =\frac{1}{2^{\frac{\alpha}{k}}(\gamma-\theta)} \mathcal{J}\left(\frac{\gamma+\theta}{2}\right)-\frac{\alpha}{k(\gamma-\theta)} \int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}-1} \mathcal{J}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
& =\frac{1}{2^{\frac{\alpha}{k}}(\gamma-\theta)} \mathcal{J}\left(\frac{\gamma+\theta}{2}\right)+\frac{\alpha}{k(\theta-\gamma)^{\frac{\alpha}{k}+1}} \int_{\frac{\gamma+\theta}{2}}^{\theta}(\theta-u)^{\frac{\alpha}{k}-1} \mathcal{J}(u) d u \\
& =-\frac{1}{2^{\frac{\alpha}{k}}(\theta-\gamma)} \mathcal{J}\left(\frac{\gamma+\theta}{2}\right)+\frac{B(\alpha) \Gamma_{k}(\alpha)}{(\theta-\gamma)^{\frac{\alpha}{k}}+1}\left[{ }^{A B}{ }_{k}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{+}} \mathcal{J}(\theta)-\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\theta)\right]
\end{aligned}
$$

So,

$$
\begin{align*}
& \int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}} \mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
& =-\frac{1}{2^{\frac{\alpha}{k}}(\theta-\gamma)} \mathcal{J}\left(\frac{\gamma+\theta}{2}\right)+\frac{B(\alpha) \Gamma_{k}(\alpha)}{(\theta-\gamma)^{\frac{\alpha}{k}}+1}\left[{ }^{A B}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{+}}^{\alpha} \mathcal{J}(\theta)-\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\theta)\right] \tag{17}
\end{align*}
$$

Similarly,

$$
\begin{aligned}
& \int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}} \mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
& =\left.\frac{(1-\lambda)^{\frac{\alpha}{k}}}{\gamma-\theta} \mathcal{J}(\lambda \gamma+(1-\lambda) \theta)\right|_{1 / 2} ^{1}-\frac{\alpha}{k(\theta-\gamma)} \int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}-1} \mathcal{J}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
& =\frac{1}{2^{\frac{\alpha}{k}}(\theta-\gamma)} \mathcal{J}\left(\frac{\gamma+\theta}{2}\right)-\frac{\alpha}{k(\theta-\gamma)} \int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}-1} \mathcal{J}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
& =\frac{1}{2^{\frac{\alpha}{k}}(\theta-\gamma)} \mathcal{J}\left(\frac{\gamma+\theta}{2}\right)-\frac{\alpha}{k(\theta-\gamma)^{\frac{\alpha}{k}+1}} \int_{\gamma}^{\frac{\gamma+\theta}{2}}(u-\gamma)^{\frac{\alpha}{k}-1} \mathcal{J}(u) d u \\
& =\frac{1}{2^{\frac{\alpha}{k}}(\theta-\gamma)} \mathcal{J}\left(\frac{\gamma+\theta}{2}\right)-\frac{B(\alpha) \Gamma_{k}(\alpha)}{(\theta-\gamma)^{\frac{\alpha}{k}+1}}\left[A B_{{ }_{k}} I_{\left(\frac{\gamma+\theta}{\alpha}\right)^{\alpha}}^{\alpha} \mathcal{J}(\gamma)-\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\gamma)\right] .
\end{aligned}
$$

So,

$$
\begin{align*}
& \int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}} \mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta) d \lambda \\
& =\frac{1}{2^{\frac{\alpha}{k}}(\theta-\gamma)} \mathcal{J}\left(\frac{\gamma+\theta}{2}\right)-\frac{B(\alpha) \Gamma_{k}(\alpha)}{(\theta-\gamma)^{\frac{\alpha}{k}+1}}\left[A B{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{-}}^{\alpha} \mathcal{J}(\gamma)-\frac{1-\alpha}{B(\alpha)} \mathcal{J}(\gamma)\right] \tag{18}
\end{align*}
$$

The desired identity in (16) is obtained if we multiply the identities in (17) and (18) by $\frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)}$, and take the difference between the resulting equations.

Using Lemma 1, we obtain the following trapezoidal type inequalities.
Theorem 7. If $\mathcal{J}$ satisfies the conditions of Lemma 1 and $\mathcal{J}^{\prime}$ is bounded, that is, $\left\|\mathcal{J}^{\prime}\right\|_{\infty}=$ $\sup _{x \in[\gamma, \theta]}\left|\mathcal{J}^{\prime}(x)\right|<\infty$, then the inequality

$$
\begin{align*}
& \left|\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}+(1-\alpha) \Gamma_{k}(\alpha)}{\Gamma_{k}(\alpha)}\right) \frac{\mathcal{J}(\gamma)+\mathcal{J}(\theta)}{B(\alpha)}-\left[{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma)\right]\right| \\
& \quad \leq \frac{2 k(\theta-\gamma)^{\frac{\alpha}{k}+1}\left\|\mathcal{J}^{\prime}\right\|_{\infty}}{(\alpha+k) B(\alpha) \Gamma_{k}(\alpha)}\left(1-\frac{1}{2^{\frac{\alpha}{k}}}\right) \tag{19}
\end{align*}
$$

holds for all $\alpha, k>0$.
Proof. By taking the absolute value on both sides of the identity in (13) and using the boundedness of $\mathcal{J}^{\prime}$, we obtain

$$
\begin{gather*}
\left|\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}+(1-\alpha) \Gamma_{k}(\alpha)}{\Gamma_{k}(\alpha)}\right) \frac{\mathcal{J}(\gamma)+\mathcal{J}(\theta)}{B(\alpha)}-\left[{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma)\right]\right| \\
\leq \frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}\left\|\mathcal{J}^{\prime}\right\|_{\infty}}{B(\alpha) \Gamma_{k}(\alpha)} \int_{0}^{1}\left|(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}}\right| d \lambda \tag{20}
\end{gather*}
$$

Now, we observed that for $\lambda \in[0,1]$,

$$
(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}} \begin{cases}\geq 0 & \text { for } \lambda \in[0,1 / 2] \\ <0 & \text { for } \lambda \in(1 / 2,1]\end{cases}
$$

and hence

$$
\int_{0}^{1}\left|(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}}\right| d \lambda=\int_{0}^{1 / 2}(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}} d \lambda+\int_{1 / 2}^{1} \lambda^{\frac{\alpha}{k}}-(1-\lambda)^{\frac{\alpha}{k}} d \lambda
$$

$$
\begin{equation*}
=\frac{2}{\frac{\alpha}{k}+1}\left(1-\frac{1}{2^{\frac{\alpha}{k}}}\right) . \tag{21}
\end{equation*}
$$

The desired inequality in (19) follows by substituting (21) in (20).
Theorem 8. If $\mathcal{J}$ satisfies the conditions of Lemma 1 and $\mathcal{J}^{\prime}$ is convex on $[\gamma, \theta]$, then the inequality

$$
\begin{gather*}
\left|\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}+(1-\alpha) \Gamma_{k}(\alpha)}{\Gamma_{k}(\alpha)}\right) \frac{\mathcal{J}(\gamma)+\mathcal{J}(\theta)}{B(\alpha)}-\left[{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma)\right]\right| \\
\leq \frac{k(\theta-\gamma)^{\frac{\alpha}{k}+1}}{(\alpha+k) B(\alpha) \Gamma_{k}(\alpha)}\left(1-\frac{1}{2^{\frac{\alpha}{k}}}\right)\left[\left|\mathcal{J}^{\prime}(\gamma)\right|+\left|\mathcal{J}^{\prime}(\theta)\right|\right] \tag{22}
\end{gather*}
$$

holds for all $\alpha, k>0$
Proof. By taking the absolute value on both sides of the identity in (13) and using the convexity of $\left|\mathcal{J}^{\prime}\right|$, we obtain

$$
\begin{align*}
& \left|\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}+(1-\alpha) \Gamma_{k}(\alpha)}{\Gamma_{k}(\alpha)}\right) \frac{\mathcal{J}(\gamma)+\mathcal{J}(\theta)}{B(\alpha)}-\left[{ }^{A B}{ }_{k} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+\left.{ }^{A B}{ }_{k}\right|_{\theta^{-}} ^{\alpha} \mathcal{J}(\gamma)\right]\right| \\
& \quad \leq \frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)} \int_{0}^{1}\left|(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}}\right|\left(\lambda\left|f^{\prime}(\gamma)\right|+(1-\lambda)\left|\mathcal{J}^{\prime}(\theta)\right|\right) d \lambda \\
& \quad=\frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)}\left[\left|\mathcal{J}^{\prime}(\gamma)\right| \int_{0}^{1}\left|(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}}\right| \lambda d \lambda\right. \\
& \left.\quad+\left|\mathcal{J}^{\prime}(\theta)\right| \int_{0}^{1}\left|(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}}\right|(1-\lambda) d \lambda\right] . \tag{23}
\end{align*}
$$

With an argument similar to the one used in the proof of Theorem 7, we deduce that

$$
\begin{equation*}
\int_{0}^{1}\left|(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}}\right| \lambda d \lambda=\frac{1}{\frac{\alpha}{k}+1}\left(1-\frac{1}{2^{\frac{\alpha}{k}}}\right) \tag{24}
\end{equation*}
$$

and

$$
\begin{equation*}
\int_{0}^{1}\left|(1-\lambda)^{\frac{\alpha}{k}}-\lambda^{\frac{\alpha}{k}}\right|(1-\lambda) d \lambda=\frac{1}{\frac{\alpha}{k}+1}\left(1-\frac{1}{2^{\frac{\alpha}{k}}}\right) . \tag{25}
\end{equation*}
$$

The desired inequality in (22) follows by substituting (24) and (25) in (23).

Using Lemma 2, we obtain the following midpoint type inequalities.
Theorem 9. If $\mathcal{J}$ satisfies the conditions of Lemma 2 and $\mathcal{J}^{\prime}$ is bounded, that is, $\left\|\mathcal{J}^{\prime}\right\|_{\infty}=$ $\sup _{x \in[\gamma, \theta]}\left|\mathcal{J}^{\prime}(x)\right|<\infty$, then the inequality

$$
\begin{align*}
& \left\lvert\,\left[{ }^{A B}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{-}}^{\alpha} \mathcal{J}(\gamma)\right]\right. \\
& \left.\quad-\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}}{2^{\frac{\alpha}{k}-1} B(\alpha) \Gamma_{k}(\alpha)} \mathcal{J}\left(\frac{\theta+\gamma}{2}\right)+\frac{1-\alpha}{B(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)]\right) \right\rvert\, \\
& \leq \frac{k(\theta-\gamma)^{\frac{\alpha}{k}+1}\left\|\mathcal{J}^{\prime}\right\|_{\infty}}{2^{\frac{\alpha}{k}}(\alpha+k) B(\alpha) \Gamma_{k}(\alpha)} \tag{26}
\end{align*}
$$

holds for all $\alpha, k>0$.

Proof. Taking the absolute value on both sides of the identity in (16) and using the boundedness of $\mathcal{J}^{\prime}$, we obtain

$$
\begin{aligned}
& \left\lvert\,\left[\begin{array}{l}
A B \\
\left.{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{+}}^{\alpha} \mathcal{J}^{( }(\theta)+{ }_{k}^{A B} I_{\left(\frac{\gamma+\theta}{2}\right)^{-}}^{\alpha} \mathcal{J}(\gamma)\right] \\
\\
\left.\quad-\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}}{2^{\frac{\alpha}{k}-1} B(\alpha) \Gamma_{k}(\alpha)} \mathcal{J}\left(\frac{\theta+\gamma}{2}\right)+\frac{1-\alpha}{B(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)]\right) \right\rvert\, \\
\leq \frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)}\left[\int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}}\left|\mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta)\right| d \lambda+\int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}}\left|\lambda^{\prime}(\lambda \gamma+(1-\lambda) \theta)\right| d \lambda\right] \\
\leq \frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}\left\|\mathcal{J}^{\prime}\right\|_{\infty}}{B(\alpha) \Gamma_{k}(\alpha)}\left[\int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}} d \lambda+\int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}} d \lambda\right] \\
=\frac{k(\theta-\gamma)^{\frac{\alpha}{k}+1}\left\|\mathcal{J}^{\prime}\right\|_{\infty}}{2^{\frac{\alpha}{k}}(\alpha+k) B(\alpha) \Gamma_{k}(\alpha)} .
\end{array} .\right.\right.
\end{aligned}
$$

Hence the proof is complete.
Theorem 10. If $\mathcal{J}$ satisfies the conditions of Lemma 1 and $\mathcal{J}^{\prime}$ is convex on $[\gamma, \theta]$, then the inequality

$$
\begin{align*}
& \left\lvert\,\left[{ }^{A B}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{-}}^{\alpha} \mathcal{J}(\gamma)\right]\right. \\
& \left.\quad-\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}}{2^{\frac{\alpha}{k}-1} B(\alpha) \Gamma_{k}(\alpha)} \mathcal{J}\left(\frac{\theta+\gamma}{2}\right)+\frac{1-\alpha}{B(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)]\right) \right\rvert\, \\
& \leq \frac{k(\theta-\gamma)^{\frac{\alpha}{k}}+1}{2^{\frac{\alpha}{k}+1}(\alpha+k) B(\alpha) \Gamma_{k}(\alpha)}\left[\left|\mathcal{J}^{\prime}(\gamma)\right|+\left|\mathcal{J}^{\prime}(\theta)\right|\right] \tag{27}
\end{align*}
$$

holds for all $\alpha, k>0$.
Proof. Taking the absolute value on both sides of the identity in (16) and using the convexity of $\left|\mathcal{J}^{\prime}\right|$, we obtain

$$
\begin{aligned}
& \begin{array}{l}
{\left[{ }^{A B}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B}{ }_{k} I_{\left(\frac{\gamma+\theta}{2}\right)}^{\alpha}{ }^{\alpha} \mathcal{J}(\gamma)\right]} \\
\left.\quad-\left(\frac{(\theta-\gamma)^{\frac{\alpha}{k}}}{2^{\frac{\alpha}{k}-1} B(\alpha) \Gamma_{k}(\alpha)} \mathcal{J}\left(\frac{\theta+\gamma}{2}\right)+\frac{1-\alpha}{B(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)]\right) \right\rvert\, \\
\leq \frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)}\left[\int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}}\left|\mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta)\right| d \lambda+\int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}}\left|\mathcal{J}^{\prime}(\lambda \gamma+(1-\lambda) \theta)\right| d \lambda\right] \\
\leq \frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)}\left[\int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}}\left(\lambda\left|\mathcal{J}^{\prime}(\gamma)\right|+(1-\lambda)\left|\mathcal{J}^{\prime}(\theta)\right|\right) d \lambda\right. \\
\left.\quad \quad+\int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}}\left(\lambda\left|\mathcal{J}^{\prime}(\gamma)\right|+(1-\lambda)\left|\mathcal{J}^{\prime}(\theta)\right|\right) d \lambda\right] \\
=\frac{(\theta-\gamma)^{\frac{\alpha}{k}+1}}{B(\alpha) \Gamma_{k}(\alpha)}\left[| \mathcal { J } ^ { \prime } ( \gamma ) | \left(\int_{0}^{1 / 2} \lambda^{\left.\lambda^{\frac{\alpha}{k}+1} d \lambda+\int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}} \lambda d \lambda\right)}\right.\right. \\
\left.\quad \quad+\left|\mathcal{J}^{\prime}(\theta)\right|\left(\int_{0}^{1 / 2} \lambda^{\frac{\alpha}{k}}(1-\lambda) d \lambda+\int_{1 / 2}^{1}(1-\lambda)^{\frac{\alpha}{k}+1} d \lambda\right)\right] \\
=\frac{k(\theta-\gamma)^{\frac{\alpha}{k}+1}}{2^{\frac{\alpha}{k}+1}(\alpha+k) B(\alpha) \Gamma_{k}(\alpha)}\left[\left|\mathcal{J}^{\prime}(\gamma)\right|+\left|\mathcal{J}^{\prime}(\theta)\right|\right] .
\end{array}
\end{aligned}
$$

Hence, the proof is complete.

Remark 3. It is worth noting that the inequalities in Theorems 7-10 provide estimates for the absolute of the error between the middle term and left or right terms in the inequality in Theorem 6, with some modifications.

## 3. Conclusions

We proposed the definitions of some new generalized fractional integral operators called $k$-Atangana-Baleanu fractional integrals. The well-known Atangana-Baleanu fractional integrals are special cases of the newly proposed fractional integral operators when $k=1$; see Remark 1. The Hermite-Hadamard inequality and some fractional integral inequalities involving these new generalized fractional integral operators have been established as an application of these new operators. It has been noted that certain results already provided can be obtained as particular cases from some of our results; see Remark 2. In addition, if we set $k=1$ in the inequalities of Theorems 7-10, we obtain, respectively, the following inequalities involving the Atangana-Baleanu fractional integrals:
1.

$$
\begin{aligned}
& \left|\left(\frac{(\theta-\gamma)^{\alpha}+(1-\alpha) \Gamma(\alpha)}{\Gamma(\alpha)}\right) \frac{\mathcal{J}(\gamma)+\mathcal{J}(\theta)}{B(\alpha)}-\left[{ }^{A B} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma)\right]\right| \\
& \quad \leq \frac{2(\theta-\gamma)^{\alpha+1}\left\|\mathcal{J}^{\prime}\right\|_{\infty}}{(\alpha+1) B(\alpha) \Gamma(\alpha)}\left(1-\frac{1}{2^{\alpha}}\right)
\end{aligned}
$$

2. 

$$
\begin{aligned}
& \left|\left(\frac{(\theta-\gamma)^{\alpha}+(1-\alpha) \Gamma(\alpha)}{\Gamma(\alpha)}\right) \frac{\mathcal{J}(\gamma)+\mathcal{J}(\theta)}{B(\alpha)}-\left[{ }^{A B} I_{\gamma^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B} I_{\theta^{-}}^{\alpha} \mathcal{J}(\gamma)\right]\right| \\
& \quad \leq \frac{(\theta-\gamma)^{\alpha+1}}{(\alpha+1) B(\alpha) \Gamma(\alpha)}\left(1-\frac{1}{2^{\alpha}}\right)\left[\left|\mathcal{J}^{\prime} \gamma\right|+\left|\mathcal{J}^{\prime}(\theta)\right|\right]
\end{aligned}
$$

3. 

$$
\begin{aligned}
& \left\lvert\,\left[{ }^{A B} I_{\left(\frac{\gamma+\theta}{2}\right)^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B} I_{\left(\frac{\gamma+\theta}{2}\right)^{-}}^{\alpha} \mathcal{J}(\gamma)\right]\right. \\
& \left.\quad-\left(\frac{(\theta-\gamma)^{\alpha}}{2^{\alpha-1} B(\alpha) \Gamma(\alpha)} \mathcal{J}\left(\frac{\theta+\gamma}{2}\right)+\frac{1-\alpha}{B(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)]\right) \right\rvert\, \\
& \leq \frac{(\theta-\gamma)^{\alpha+1}\left\|\mathcal{J}^{\prime}\right\|_{\infty}}{2^{\alpha}(\alpha+1) B(\alpha) \Gamma(\alpha)}
\end{aligned}
$$

4. 

$$
\begin{aligned}
& \left\lvert\,\left[{ }^{A B} I_{\left(\frac{\gamma+\theta}{2}\right)^{+}}^{\alpha} \mathcal{J}(\theta)+{ }^{A B} I_{\left(\frac{\gamma+\theta}{2}\right)^{-}}^{\alpha} \mathcal{J}(\gamma)\right]\right. \\
& \left.\quad-\left(\frac{(\theta-\gamma)^{\alpha}}{2^{\alpha-1} B(\alpha) \Gamma(\alpha)} \mathcal{J}\left(\frac{\theta+\gamma}{2}\right)+\frac{1-\alpha}{B(\alpha)}[\mathcal{J}(\gamma)+\mathcal{J}(\theta)]\right) \right\rvert\, \\
& \leq \frac{(\theta-\gamma)^{\alpha+1}}{2^{\alpha+1}(\alpha+1) B(\alpha) \Gamma(\alpha)}\left[\left|\mathcal{J}^{\prime}(\gamma)\right|+\left|\mathcal{J}^{\prime}(\theta)\right|\right]
\end{aligned}
$$

These special cases are new, to the best of our knowledge. We are of the opinion that the results in this paper will stimulate further research on fractional integral operators and their applications.


#### Abstract

Author Contributions: Conceptualization, S.K. and E.R.N.; methodology, S.K. and E.R.N.; writingoriginal draft preparation, S.K. and E.R.N.; writing-review and editing, S.K. and E.R.N. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding. Data Availability Statement: Not applicable. Acknowledgments: The authors would like to express their profound gratitude to the anonymous reviewers for their comments and suggestions that have led to improve the final version of the manuscript.


Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Akdemir, A.O.; Karaoğlan, A.; Ragusa, M.A.; Set, E. Fractional integral inequalities via Atangana-Baleanu Operators for convex and concave functions. J. Funct. Spaces 2021, 2021, 1055434. [CrossRef]
2. Ali, M.A.; Goodrich, C.S.; Budak, H. Some new parametrized Newton-type inequalities for differentiable functions via fractional integrals. J. Inequal. Appl. 2023, 2023, 49. [CrossRef]
3. Butt, S.S.; Yousaf, S.; Akdemir, A.O.; Dokuyucu, M.A. New Hadamard-type integral inequalities via a general form of fractional integral operators. Chaos Solitons Fractals 2021, 148, 111025.
4. Chu, Y.-M.; Awan, M.U.; Javad, M.Z.; Khan, A.G. Bounds for the remainder in Simpsons inequality via $n$-convex functions of higher order using Katugampola fractional integrals. J. Math. 2020, 2020, 4189036. [CrossRef]
5. Guzman, P.M.; Valdes, J.E.N.; Gasimov, Y.S. Integral inequalities within the framework of generalized fractional integrals. Fract. Differ. Calc. 2021, 11, 69-84. [CrossRef]
6. Kermausuor, S.; Nwaeze, E.R. New midpoint and trapezoidal-type inequalities for prequasiinvex functions via generalized fractional integrals. Stud. Univ.-Babes-Bolyai Math. 2022, 67, 677-692. [CrossRef]
7. Peng, C.; Zhou, C.; Du, T.S. Riemann-Liouville fractional Simpson's inequalities through generalized $\left(m, h_{1}, h_{2}\right)-$ preinvexity. Ital. J. Pure Appl. Math. 2017, 38, 345-367.
8. Sanli, Z. Simpson type Katugampola fractional integral inequalities via Harmonic convex functions. Malaya J. Mat. 2022, 10, 364-373. [CrossRef]
9. Yu, Y.; Lei, H.; Du, T. Estimates of upper bounds for differentiable mappings related to Katugampola fractional integrals and p-convex mappings. AIMS Math. 2021, 64, 3525-3545. [CrossRef]
10. Ali, M.A.; Kara, H.; Tariboon, J.; Asawasamrit, S.; Budak, H.; Heneci, F. Some new Simpson's-formula-type inequalities for twice differentiable convex functions via generalized fractional operators. Symmetry 2021, 13, 2249. [CrossRef]
11. Bibi, M.; Muddasar, M. Hermite-Hadamard type fractional integral inequalities for strongly generalized-prequasi-invex function. Int. J. Nonlinear Anal. Appl. 2022, 13, 515-525.
12. Bohner, M.; Khan, A.; Khan, M.; Mehmood, F.; Shaikh, M.A. Generalized perturbed Ostrowski-type inequalities. Ann. Univ. Mariae-Curie-Sklodowska Sect. A Math. 2022, 75, 13-29. [CrossRef]
13. Du, T.; Yuan, X. On the parametrized fractional integral inequalities and related applications. Chaos, Solitons \& Fractals 2023, 170, 113375.
14. Farid, G. Some Riemann-Liouville fractional integral inequalities for convex functions. J. Anal. 2019, 27, 1095-1102. [CrossRef]
15. Farid, G.; Rehman, A.U.; Ain, Q.U. $k$ fractional inequalities of Hadamard type for $(h, k)$-convex functions. Computat. Methods Differ. Equ. 2020, 8, 119-140.
16. Hussain, S.; Azhar, F.; Latif, M.A. Generalized fractional Ostrowski type integral inequalities for logarithmically $h$-convex function. J. Anal. 2021, 29, 1265-1278. [CrossRef]
17. Mohammed, P.O.; Brevik, I. A new version of the Hermite-Hadamard inequality for Riemann-Liouville fractional integrals. Symmetry 2019, 12, 610. [CrossRef]
18. Noor, M.A.; Noor, K.I.; Awan, M.U.; Khan, S. Fractional Hermite-Hadamard inequalities for some new classes of Godunova-Levin functions. Appl. Math. Inf. Sci. 2014, 8, 2865-2872. [CrossRef]
19. Nwaeze, E.R.; Kermausuor, S.; Tameru, A.M. Some new $k$-Riemann-Liouville fractional integral inequalities associated with the strongly $\eta$-quasiconvex functions with modulus $\mu \geq 0$. J. Inequal. Appl. 2018, 2018, 139. [CrossRef]
20. Sahoo, S.K.; Mohammed, P.O.; Kodamasingh, B.; Tariq, M.; Hamed, Y.S. New fractional integral inequalities for functions pertaining to Caputo-Frabrizio Operator. Fractal Fract. 2022, 6, 171. [CrossRef]
21. Sarikaya, M.Z.; Set, E.; Yaldiz, H.; Başak, N. Hermite-Hadamard's inequalities for fractional integrals and related fractional inequalities. Math. Comput. Model. 2013, 57, 2403-2407. [CrossRef]
22. Zabandan, G.; Bodaghi, A.; Kiliçman, A. The Hermite-Hadamard inequality for $r$-convex functions. J. Inequal. Appl. 2012, 2012, 215. [CrossRef]
23. Hadamard, J. Etude sur les propriétés des fonctions entiéres et en particulier d'une fonction considérée par Riemann. J. Math. Pures Appl. 1893, 58, 171-215.
24. Wu, S.; Iqbal, S.; Aamir, M.; Samraiz, M.; Younus, A. On some Hermite-Hadamard inequalities involving $k$-fractional operators. J. Inequal. Appl. 2021, 2021, 32. [CrossRef]
25. Gorenflo, R.; Mainardi, F. Fractional Calculus: Integral and Differential Equations of Fractional Order; Springer: Wien, Austria, 1997; pp. 223-276.
26. Miller, S.; Ross, B. An Introduction to the Fractional Calculus and Fractional Differential Equations; John Willey \& Sons: Hoboken, NJ, USA, 1993; p. 2.
27. Podlubny, I. Fractional Differential Equations; Academic Press: San Diego, CA, USA, 1999.
28. Mubeen, S.; Habibullah, G.M. $k$-fractional integrals and applications. Int. J. Contem. Math. Sci. 2012, 7, 89-94.
29. Diaz, R.; Pariguan, E. On hypergeometric functions and Pochhammer $k$-symbol. Divulg. Mat. 2007, 15, 179-192.
30. Atangana, A.; Baleanu, D. New fractional derivatives with non-local and non-singular kernel. Therm. Sci. 2016, 20, 763-769.
31. Abdeljawad, T.; Baleanu, D. Integration by parts and its applications of a new local fractional derivative with Mittag-Leffler nonsingular kernel. J. Nonlinear Sci. Appl. 2017, 10, 1098-1107. [CrossRef]
32. Fernandez, A.; Mohammed, P. Hermite-Hadamard inequalities in fractional calculus defined using Mittag-Leffler kernels. Math. Meth. Appl. Sci. 2021, 44, 8414-8431. [CrossRef]
33. Kashuri, A. Hermite-Hadamard type inequalities for the ABK-fractional integrals. J. Comput. Anal. Appl. 2021, 29, 309-326.

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.


[^0]:    Copyright: © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/).

